RUTGERS UNIVERSITY

141 Davidson Rd Piscataway, NJ. 08854 Phone - 848-230-4114 Fax - - -

Customer and Vehicle Report

IPO - Mail Services - NB COOK (Tom Stadthaus)

57 US 1

New Brunswick, NJ, 08901

Vehicle: 2012 Ford - Econoline E150, 5.4L, V8 (330CI) VIN(L), SG30426, V 9287 - SURPLUS

Average Daily Mileage: 17 Invoice: 008306 Posted On: 00/24/2024 SW: DeSantis Anthony Odometer in: 57 927 Odometer Out: 0

nvoice: 008396, Posted On: 09/24/20	024, SW: DeSantis,	Anthony				O	dometer in: 57,927	Odomet	er Out: 0
Time Description	Part No.	Category	Technician		Qty	Sale	Extd	Price	Rate
0.50 Lube, oil, and filter, Up to 5 quarts		Maintenance Services	Anthony De	eSantis	0.50	36.50	36.50		73.00
Blend Oil. Change oil and oil filter. Ch suspension if appropriate. Check all fl safety inspection.									
- ENGINE OIL / BLENDED STANDARD & SYNTHETIC	2-OIL / BLEND	Maintenance Services	Anthony De	eSantis	7.00	4.19	29.33	4.19	
- OIL FILTER	OIL FILTER	Maintenance Services	Anthony De	eSantis	1.00	3.75	3.75	3.75	
- WASTE OIL DISPOSAL FEE	OIL DISPOSAL FEE	Maintenance Services	Anthony De	eSantis	1.00	2.25	2.25	2.25	
Notes - CHECK FILTERS & FLUIDS									
1.50 STATE INSPECTION PRE CHCEK		State Inspection	Anthony De	eSantis	1.50	109.50	109.50		73.00
Pre Check vehicle for NJ State Inspec	tion & take to Inspection F	acility							
Notes - INSP. STICKER # INSP. E INSUR. COMPANY INSUR. POLICY EXPIRE DATE									
Totals for In	voice: Pai	ts Labor	Discount	Subtotal		Haz Mat	Supplies	Тах	Tota
	35.	33 146.00	0.00	181.33		0.00	5.84	0.00	187.1

35.33 146.00 0.00 181.33 0.00 5.84 0.00 187.17		 		 		
	35.3		181.33			

Invoice: 007260, Posted On:	: 02/29/2024, SW: DeSant	is, Anthony			Od	lometer in: 54,806	Odomet	er Out: 0
Time Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
0.50 Lube, oil, and filter, Up to 5 q	uarts	Maintenance Services	Anthony DeSantis	0.50	34.00	34.00		68.00
S	oil filter. Check air filter and cabin Check all fluid levels and tire pres							
 ENGINE OIL / BLENDED ST & SYNTHETIC 	ANDARD 2-OIL / BLEND	Maintenance Services	Dino Xipolias	8.00	4.19	33.52	4.19	
- OIL FILTER	OIL FILTER	Maintenance Services	Dino Xipolias	1.00	3.75	3.75	3.75	
- WASTE OIL DISPOSAL FEE	OIL DISPOSAL FE	E Maintenance Services	Dino Xipolias	1.00	2.25	2.25	2.25	

Print Date: 07/14/2025

Vehicle: 2012 Ford - Econoline E150, 5.4L,V8 (330Cl) VIN(L), SG30426, V 9287 - SURPLUS

Invoice: 007260, Posted On: 02/29/2024, SW: DeSantis, Anthony Odometer in: 54,806 Odometer Out: 0

Time Description Part No. Technician Qty Sale Extd **Price** Rate Category Notes - CHECK FILTERS & FLUIDS 0.94 Mount & Balance four tires Tires & Wheels Dino Xipolias 0.94 80.00 80.00 68.00 Remove wheels from vehicle. Inspect brakes. Remove old tires and install new ones. Computer spin balance. Re-install wheels to vehicle and torque lug nuts to manufacturer's specifications. - Firestone Transforce HT2 TIRE Dino Xipolias 4.00 161.46 645.84 161.46 DISPOSAL FEE CAR-LIGHT TRUCK TIRE DISPOSAL Tires & Wheels Dino Xipolias 4.00 2.50 10.00 2.50 Tires & Wheels Dino Xipolias 2.50 10.00 - VALVE STEM FOR WHEEL RIM, TIRE VALVE STEM 4.00 2.50 CONVENTIONAL

Notes - TMPS SERVICE KIT OR VALVE STEM?

Notes - EDIT TIRE PRICE & TYPE

Notes - TIRE FEE FOR STATE IS AUTOMATICALLY ADDED TO INVOICE, PLEASE CHECK IT.

Totals for Invoice:	Parts	Labor	Discount	Subtotal	Haz Mat	Supplies	Tax	Total
	705.36	114.00	0.00	819.36	0.00	4.56	0.00	823.92

Invoice: 005965, Posted On: 08/31/2023, SW: DeSantis, Anthony

Odometer in: 51,412	Odometer	Out: 0
---------------------	----------	--------

Average Daily Mileage: 17

Time	Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
0.30	Symptoms - Check no start issue. Engine will not crank over.: Check no start issue. Engine will not crank over. Test battery condition, check main cables from battery to engine. Check starter circuit and ability of starter to turn engine over.		Starting & Charging Sys	Dino Xipolias	0.30	20.40	20.40		68.00
0.30	Symptoms - Noise from vehicle while running and / or driving.: Noise from vehicle while running and / or driving. May include road test and evaluating vehicle on the lift. Check and advise customer.		Diagnostics	Dino Xipolias	0.30	20.40	20.40		68.00
-	Symptoms - Perform maintenance oil change & service to vehicle.: Perform maintenance oil change & service to vehicle.		Maintenance Services	Dino Xipolias		0.00	0.00		68.00
0.95	Lube, oil, and filter, Up to 5 quarts		Maintenance Services	Dino Xipolias	0.95	61.80	61.80		68.00

Vehicle: 2012 Ford - Econoline E150, 5.4L, V8 (330CI) VIN(L), SG30426, V 9287 - SURPLUS

Average Daily Mileage: 17

Odometer in: 51.412 Odometer Out: 0

Invoice: 005965, Posted On: 08/31/2023, SW: DeSantis, Anthony

Technician Time Description Part No. Qty Sale Extd **Price** Rate Category Blend Oil, Change oil and oil filter. Check air filter and cabin air too, Grease suspension if appropriate. Check all fluid levels and tire pressures. Perform under car safety inspection. Preventative Maintenance & Safety Dino Xipolias 0.00 Maintenance Services 0.00 68.00 Inspection of vehicle includes safety inspection of suspension, tires & exhaust. Also check all fluids belts & hoses. Check brakes, involves pulling wheels to do proper inspection. Check for fluid leaks. Check proper A/C operation. Check for warning lights from engine and other systems. Check all credentials for being up to date. ENGINE OIL / BLENDED STANDARD 2-OIL / BLEND Maintenance Services Dino Xipolias 8.00 4.19 33.52 4.19 & SYNTHETIC - OIL FILTER OIL FILTER Maintenance Services Dino Xipolias 1.00 3.75 3.75 3.75 WASTE OIL DISPOSAL FEE OIL DISPOSAL FEE Maintenance Services Dino Xipolias 2.25 2.25 2.25 1.00 Notes - CHECK FILTERS & FLUIDS 0.84 A/C COMPRESSOR DRIVE BELT Dino Xipolias 0.84 57.12 57.12 68.00 TENSIONER/IDLER - Remove & Replace - Gas/Ethanol Idler BELT TENSIONER/Accessory Drive 38274 Dino Xipolias 1.00 51.58 51.58 51.58 **Belt Tensioner Assembly** - SERPENTINE BELT/Serpentine Belt K060997 Dino Xipolias 1.00 36.84 36.84 36.84 - IDLER PULLEY/Accessory Drive Belt 38001 Dino Xipolias 1.00 26.30 26.30 26.30 Idler Pulley AAMCO TO REPLACE FLYWHEEL 1,180.32 1,180.32 AAMCO TO REPLACE FLYWHEEL Notes - INV 1137607 Notes - PO 25423976 1.00 Remove and Replace Starter Starting & Charging Sys Dino Xipolias 1.00 68.00 68.00 68.00 Remove and replace old starter with new one. Lift vehicle to gain access to starter. Remove old starter. Inspect wear on starter drive gear and flywheel of car. Replace starter with new one. Check starter performance. PRO STARTER/Starter Motor 337-1048 Dino Xipolias 1.00 149.70 149.70 149.70 Totals for Invoice: Subtotal **Haz Mat Supplies Parts** Labor Discount Tax Total 303.94 1,408.04 0.00 0.00 19.27 1,711.98 0.00 1,731.25

Invoice: 005102, Posted On: 03/07/2023, SW: DeSantis, Anthony

Part No. Technician Qty Sale **Price** Time Description Category Extd Rate 1.50 STATE INSPECTION PRE CHCEK State Inspection Student Property Assitan 1.50 99.00 99.00 66.00

Odometer Out: 0

Odometer in: 48,145

Vehicle: 2012 Ford - Econoline E150, 5.4L, V8 (330CI) VIN(L), SG30426, V 9287 - SURPLUS

Average Daily Mileage: 17

Invoice: 005102, Posted On: 03/07/2023, SW: DeSantis, Anthony

Odometer in: 48,145 Odometer Out: 0

Time Description Part No. Category Technician Qty Sale Extd Price Rate

Pre Check vehicle for NJ State Inspection & take to Inspection Facility

Notes - INSP STICKER # INSP EXPIRE DATE INSP MILEAGE

Notes - INSP. STICKER #...... INSP. EXPIRE DATE..... INSP. MILEAGE....... INSUR. COMPANY...... INSUR. POLICY #...... INSUR. START DATE.. INSUR. EXPIRE DATE..

Totals for Invoice:	Parts	Labor	Discount	Subtotal	Haz Mat	Supplies	Tax	Total
	0.00	99.00	0.00	99.00	0.00	3.96	0.00	102.96

Invoice: 005103, Posted On: 03/07/20	023, SW: DeSantis, A	Anthony			Od	Odometer in: 48,182 Odo		
Time Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
0.95 Lube, oil, and filter, Up to 5 quarts Blend Oil. Change oil and oil filter. Che suspension if appropriate. Check all flu safety inspection.			Nick Ventriello	0.95	61.80	61.80		66.00
 Preventative Maintenance & Safety Inspection of vehicle includes safety instruction check all fluids belts & hoses. Check broinspection. Check for fluid leaks. Check lights from engine and other systems. 	rakes, involves pulling whe k proper A/C operation. C	eels to do proper heck for warning	Nick Ventriello		0.00	0.00		66.00
 ENGINE OIL / BLENDED STANDARD & SYNTHETIC 	2-OIL / BLEND	Maintenance Services	Nick Ventriello	8.00	4.19	33.52	4.19	
- OIL FILTER	OIL FILTER	Maintenance Services	Nick Ventriello	1.00	3.75	3.75	3.75	
- WASTE OIL DISPOSAL FEE	OIL DISPOSAL FEE	Maintenance Services	Nick Ventriello	1.00	2.25	2.25	2.25	
Notes - CHECK FILTERS & FLUIDS								
1.75 Replace front disc pads and rotors Replace front brake pad linings and fro brake calipers and slide mechanisms. system. Road test vehicle.			Nick Ventriello	1.75	115.50	115.50		66.00
- BRAKE ROTOR/Disc Brake Rotor	AR82129EVC		Nick Ventriello	2.00	217.83	435.66	217.83	
 Z36 PAD W HDW/Disc Brake Pad Set 	Z36-1328		Nick Ventriello	1.00	69.59	69.59	69.59	
- RETAINER GREASE/Wheel Seal	BRS93		Nick Ventriello	2.00	11.40	22.80	11.40	
- BRAKE FLUID DOT-3	BRK FLUID DOT-3	Brakes & ABS	Nick Ventriello	2.50	2.50	6.25	2.50	
- BRAKE CLEAN SPRAY	BRK CLEAN	Maintenance Services	Steven Holt	2.00	5.25	10.50	5.25	
- BRAKE CALIPER LUBERICANT	BRK CALIPER LUBE	Brakes & ABS	Steven Holt	1.00	1.00	1.00	1.00	
Notes - ADD APPROPRIATE PART # AN	ID PRICE							
0.75 RENEW BATTERY		Electrical System	Nick Ventriello	0.75	49.50	49.50		66.00

Vehicle: 2012 Ford - Econoline E150, 5.4L,V8 (330Cl) VIN(L), SG30426, V 9287 - SURPLUS

Invoice: 005103. Posted On: 03/07/2023. SW: DeSantis. Anthony Odometer in: 48,182 Odometer Out: 0

/oice: 005103, Posted On: 03	0/07/2023, SW. Des	sanus, Anunc	лу				O	uometei m. 46, 162	Odomete	51 Out. 0
me Description	Part No.	Cat	egory	Technician		Qty	Sale	Extd	Price	Rate
Replace battery in vehicle. Cleaservice greatly improves the efficharging system.										
- BATTERY ASM /Vehicle Battery	65GHR			Nick Ventriello	ı	1.00	132.00	132.00	132.00	
Notes - ADD APPROPRIATE PAI	RT # AND PRICE									
- BATTERY TERMINAL CLEANER	BATTERY TE	RM CLEAI Sta	rting & Charging Sy	s Nick Ventriello	ı	3.50	0.63	2.21	0.63	
- BATTERY TERMINAL SEALER	BATTERY TE	RM SEALI Elec	ctrical System	Nick Ventriello	ı	3.00	1.00	3.00	1.00	
Total	s for Invoice:	Parts	Labor	Discount	Subtotal		Haz Mat	Supplies	Tax	Tota
		722.53	226.80	0.00	949.33		0.00	9.07	0.00	958.40

Invoice: 003363, Posted On: 10/06/2022, SW: Arcure, Ron Odometer in: 44,716 Odometer Out: 0

Time	Description	Part No.	Category	Technician Technician	Qty	Sale	Extd	Price Rate
0.50	Key fab dont work Check out key fab no problem found at th	is time		Dino Xipolias	0.50	32.50	32.50	65.00
1.50	Drivers door does not unlock with key Remove door panel remove door lock cyl	and lubricate		Dino Xipolias	1.50	97.50	97.50	65.00
2.00	Side cargo door does not open from out side Check out side door lubricate all locks cleans.	an door tracks ar	nd lubricate check door	Dino Xipolias	2.00	130.00	130.00	65.00

Check out side door lubricate all locks clean door tracks and lubricate check door operation ok

Totals for Invoice:	Parts	Labor	Discount	Subtotal	Haz Mat	Supplies	Tax	Total
	0.00	260.00	0.00	260.00	0.00	10.40	0.00	270.40

Invoice: 003278, Posted On: 03/30/2022, SW: Arcure, Ron Odometer in: 44,613 Odometer Out: 0

Time	Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
-	DRIVERS SIDE, FRONT WIPER BLADE	WIPER BLADE-DRIVER	Wipers	Dino Xipolias	1.00	18.75	18.75	18.75	
0.15	Replace front passengers side wiper.		Wipers	Dino Xipolias	0.15	10.00	10.00		65.00
	Remove and replace worn wiper blade	s with new wiper blades.							
0.15	Replace front drivers side wiper.		Wipers	Dino Xipolias	0.15	10.00	10.00		65.00
	Remove and replace worn wiper blade	s with new wiper blades.							
-	PASSENGER SIDE, FRONT WIPER BLADE	WIPER BLADE-PASS	Wipers	Dino Xipolias	1.00	18.75	18.75	18.75	

Average Daily Mileage: 17

Vehicle: 2012 Ford - Econoline E150, 5.4L, V8 (330CI) VIN(L), SG30426, V 9287 - SURPLUS

Average Daily Mileage: 17

Invoice: 003278, Posted On: 03/30/2022, SW: Arcure, Ron

Odometer in: 44,613 Odometer Out: 0

Time Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
0.95 Lube, oil, and filter, Up to 5 quarts		Maintenance Services	Dino Xipolias	0.95	61.80	61.80		65.00
Blend Oil. Change oil and oil filter. Ch suspension if appropriate. Check all fl safety inspection.								
- Preventative Maintenance & Safety		Maintenance Services	Dino Xipolias		0.00	0.00		65.00
Inspection of vehicle includes safety in check all fluids belts & hoses. Check be inspection. Check for fluid leaks. Check lights from engine and other systems.	rakes, involves pulling whe ck proper A/C operation. C	eels to do proper Check for warning						
- ENGINE OIL / BLENDED STANDARD & SYNTHETIC	2-OIL / BLEND	Maintenance Services	Dino Xipolias	6.00	3.44	20.64	3.44	
- OIL FILTER	OIL FILTER	Maintenance Services	Dino Xipolias	1.00	3.75	3.75	3.75	
- WASTE OIL DISPOSAL FEE	OIL DISPOSAL FEE	Maintenance Services	Dino Xipolias	1.00	2.25	2.25	2.25	
Notes - CHECK FILTERS & FLUIDS								
1.00 Mount & Balance 2 tires		Tires & Wheels	Dino Xipolias	1.00	40.00	40.00		65.00
Remove wheels from vehicle. Inspect ones. Computer spin balance. Re-inst manufacturer's specifications.								
- Firestone Transforce HT2	TIRE		Dino Xipolias	2.00	130.01	260.02	130.01	
- DISPOSAL FEE CAR-LIGHT TRUCK	TIRE DISPOSAL	Tires & Wheels	Dino Xipolias	2.00	2.50	5.00	2.50	
- VALVE STEM FOR WHEEL RIM, CONVENTIONAL	TIRE VALVE STEM	Tires & Wheels	Dino Xipolias	2.00	2.50	5.00	2.50	
Notes - TMPS SERVICE KIT OR VALVE	STEM?							

Notes - EDIT TIRE PRICE & TYPE

Notes - TIRE FEE FOR STATE IS AUTOMATICALLY ADDED TO INVOICE, PLEASE

CHECK IT.

Totals for Invoice:	Parts	Labor	Discount	Subtotal	Haz Mat	Supplies	Тах	Total
	334.16	121.80	0.00	455.96	0.00	4.87	0.00	460.83

Invoice: 003269, Posted On: 03/30/2022, SW: Arcure, Ron Odometer in: 44,591 Odometer Out: 0

Time Description	Part No.	Category	Technician	Qty	Sale	Extd	Price Rate
1.00 Lock out			Dino Xipolias	1.00	65.00	65.00	65.00
Drive to veh and open door							

Totals for Invoice:	Parts	Labor	Discount	Subtotal	Haz Mat	Supplies	Тах	Total
	0.00	65.00	0.00	65.00	0.00	2.60	0.00	67.60

Vehicle: 2012 Ford - Econoline E150, 5.4L,V8 (330CI) VIN(L), SG30426, V 9287 - SURPLUS

Average Daily Mileage: 17

Invoice: 003195, Posted On: 03/30/2022,	SW: Arcure, Ron	Odometer in: 44,481	Odometer Out: 0

Time Description	Part No.	Ca	tegory	Technicia	n	Qty	Sale	Extd	Price	Rate
1.00 Replace faulty head light.		Lig	ıhts	Dino Xipo	lias	1.00	65.00	65.00		65.00
Identify cause of light not working. as needed.	· ·	Repair or repl	ace light bulb		_					
 HALOGEN BEAM/Headlight Bulb 	H6054			Dino Xipo	lias	2.00	15.56	31.12	15.56	
Notes - EDIT APPROPRIATE PART	PRICES & QUANTIT	TES								
Totals fo	or Invoice:	Parts	Labor	Discount	Subtotal	1	Haz Mat	Supplies	Tax	Total
		31.12	65.00	0.00	96.12		0.00	2.60	0.00	98.72

Invoice: 002297, Posted On: 11/03/2021, SW: Arcure, Ron

Odometer in: 43,181 Odometer Out: 0

Time	Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
0.95	Lube, oil, and filter, Up to 5 quarts Blend Oil. Change oil and oil filter. Check suspension if appropriate. Check all fluid safety inspection.			Nick Ventriello	0.95	61.80	61.80		65.00
-	Preventative Maintenance & Safety Inspection of vehicle includes safety inspected all fluids belts & hoses. Check braken inspection. Check for fluid leaks. Check lights from engine and other systems. Ch	ces, involves pulling whee proper A/C operation. Ch	ls to do proper eck for warning	Nick Ventriello		0.00	0.00		65.00
-	ENGINE OIL / BLENDED STANDARD & SYNTHETIC	2-OIL / BLEND	Maintenance Services	Nick Ventriello	6.00	3.44	20.64	3.44	
-	OIL FILTER	OIL FILTER	Maintenance Services	Nick Ventriello	1.00	3.75	3.75	3.75	
-	WASTE OIL DISPOSAL FEE	OIL DISPOSAL FEE	Maintenance Services	Nick Ventriello	1.00	2.25	2.25	2.25	
	Notes - CHECK FILTERS & FLUIDS								
1.00	Check brakes on vehicle. May involve pulling wheels and / or brake drums to evaluate condition of brakes. Check for wear on brake pads and / or shoes. Check emergency brake operation. Check all lines and hoses. Check master cylinder and brake fluid. Replace slide pins on calopers		Brakes & ABS	Nick Ventriello	1.00	65.00	65.00		65.00
-	Replace front drivers side wiper.		Wipers	Nick Ventriello		0.00	0.00		65.00
	Remove and replace worn wiper blades v	•							
-	DRIVERS SIDE, FRONT WIPER BLADE	WIPER BLADE-DRIVEF	Wipers	Nick Ventriello	1.00	12.50	12.50	12.50	

126.80

53.71

Vehicle: 2012 Ford - Econoline E150, 5.4L,V8 (330Cl) VIN(L), SG30426, V 9287 - SURPLUS

Odometer in: 43,181 Odometer Out: 0

0.00

5.07

Invoice: 002297, Posted On: 11/03/2021, SW: Arcure, Ron

Time	Description	Part No.	Category	<u>Technici</u>	an	Qty	Sale	Extd	Price_	Rate
-	Replace front passengers side wiper.		Wipers	Nick Ven	triello		0.00	0.00		65.00
	Remove and replace worn wiper blades w	ith new wiper blades.								
-	FRONT DRIVER SIDE WIPER BLADE	WIPER BLADE-DRIVER	Wipers	Nick Ven	triello	1.00	14.57	14.57	12.75	
	Totals for Invoi	ce: Parts	Labor	Discount	Subtotal		Haz Mat	Supplies	Tax	Total

0.00

180.51

Invoice: 001438, Posted On: 05/24/2021, SW: Arcure, Ron

Time	Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
0.50	Symptoms - Identify cause of exhaust system leaks.: Identify cause of exhaust system leaks. May involve lifting vehicle for further inspection.		Exhaust System	Towing Mike's	0.50	32.50	32.50		65.00
1.50	Tow Vehicle for Customer Tow vehicle to our shop.		Tow, Transport & Storage	Towing Mike's	1.50	97.50	97.50		65.00
-	TOW- PER MILE CHARGE Notes - EDIT LABOR TIME AS NEEDED CHECK EXHAUST	TOW- PER MILE-CHAR	Tow, Transport & Storage		1.00	3.00	3.00	3.00	
	Mikes Automotive to replace catalytic con	vectors and o2 sensors							
0.75	Pick Up Vehicle & Return to Customer. Pick Up Vehicle & Return to Customer.		Courtesy Services	Towing Mike's	0.75	48.75	48.75		65.00

Totals for Invoice:	Parts	Labor	Discount	Subtotal	Haz Mat	Supplies	Тах	Total
	3.00	178.75	0.00	181.75	0.00	7.15	0.00	188.90

Invoice: 001143, Posted On: 03/22/2021, SW: Arcure, Ron

Time	Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate	
	Symptoms - Perform maintenance oil change & service to vehicle.: Perform maintenance oil change & service to vehicle.		Maintenance Services	Anthony DeSantis		0.00	0.00		65.00	
0.95	Lube, oil, and filter, Up to 5 quarts		Maintenance Services	Anthony DeSantis	0.95	61.80	61.80		65.00	
	Blend Oil. Change oil and oil filter. Check all flui									

Blend Oil. Change oil and oil filter. Check air filter and cabin air too. Grease suspension if appropriate. Check all fluid levels and tire pressures. Perform under car safety inspection.

Odometer in: 41,740 Odometer Out: 0

Average Daily Mileage: 17

0.00

Odometer in: 42,056 Odometer Out: 0

185.58

Vehicle: 2012 Ford - Econoline E150, 5.4L,V8 (330CI) VIN(L), SG30426, V 9287 - SURPLUS

Average Daily Mileage: 17

Invoice: 001143, Posted On: 03/22/2021, SW: Arcure, Ron

Odometer in: 41,740 Odometer Out: 0

Time Description	Part No.	Category	Technic	ian	Qty	Sale	Extd	Price	Rate
 Preventative Maintenance & Safe Inspection of vehicle includes sa check all fluids belts & hoses. C inspection. Check for fluid leaks lights from engine and other sys 	ofety inspection of suspension, ti heck brakes, involves pulling wh c. Check proper A/C operation.	eels to do proper Check for warning	Anthony	y DeSantis		0.00	0.00		65.00
 ENGINE OIL / BLENDED STAND & SYNTHETIC 	ARD 2-OIL / BLEND	Maintenance Services	Anthony	y DeSantis	6.00	3.44	20.64	3.44	
- OIL FILTER	OIL FILTER	Maintenance Services	Anthony	y DeSantis	1.00	3.75	3.75	3.75	
- WASTE OIL DISPOSAL FEE	OIL DISPOSAL FEE	Maintenance Services	Anthony	y DeSantis	1.00	2.25	2.25	2.25	
Notes - CHECK FILTERS & FLUI	OS								
3.00 Replace Rear Disc Pads & Rotors	S	Brakes & ABS	Anthony	y DeSantis	3.00	195.00	195.00		65.00
Replace rear brake pad linings a actuators. Clean and lubricate l brake fluid. Bleed air from syste	orake calipers and slide mechan								
- CALIPER/Disc Brake Caliper	18-B5074		Anthony	y DeSantis	1.00	85.95	85.95	85.95	
- CALIPER/Disc Brake Caliper	18-B5074		Anthony	y DeSantis	1.00	56.00	56.00	56.00	
- CALIPER/Disc Brake Caliper	18-B5075		Anthony	y DeSantis	1.00	85.95	85.95	85.95	
- CALIPER/Disc Brake Caliper	18-B5075		Anthony	y DeSantis	1.00	56.00	56.00	56.00	
- Z36 PAD W HDW/Disc Brake Pag	Set Z36-1329		Anthony	y DeSantis	1.00	54.33	54.33	54.33	
- BRAKE ROTOR/Disc Brake Roto	AR85123EVC		Anthony	y DeSantis	2.00	72.20	144.40	72.20	
- BRAKE FLUID DOT-3	BRK FLUID DOT-3	Brakes & ABS	Anthony	y DeSantis	2.50	1.00	2.50	1.00	
- BRAKE CLEAN SPRAY	BRK CLEAN	Maintenance Services	Anthony	y DeSantis	2.00	1.00	2.00	1.00	
- BRAKE CALIPER LUBERICANT	BRK CALIPER LUBE	Brakes & ABS	Anthony	y DeSantis	2.00	1.00	2.00	1.00	
Notes - ADD APPROPRIATE PAR	RT # AND PRICE								
0.50 Noise from vehicle while running a or driving. May include road test a evaluating vehicle on the lift. Chec and advise customer. front sway bar is loose, bushing	nd k	Diagnostics	Anthony	y DeSantis	0.50	32.50	32.50		65.00
- STAB BUSHING KT/Suspension Stabilizer Bar Bushing Kit	K8690	J	Anthony	y DeSantis	1.00	32.84	32.84	32.84	
Totals	for Invoice: Par	rts Labor	Discount	Subtotal		Haz Mat	Supplies	Tax	Tot
	548.	.61 289.30	0.00	837.91		0.00	11.57	0.00	849.4

Average Daily Mileage: 17

Vehicle: 2012 Ford - Econoline E150, 5.4L,V8 (330CI) VIN(L), SG30426, V 9287 - SURPLUS

Invoice: 000274, Posted On: 10/14/2020, SW: Arcure, Ron

Odometer in: 40,428 Odometer Out: 0

Time [Description	Part No.	Category	Technician	Qty	Sale	Extd	Price	Rate
	Notes - CHECK KEY OPERATION IN DR	RIVERS DOOR SIDE DOO	DR DOES NOT						
1.00 F	Replace door latch rod clip			Anthony DeSantis	1.00	65.00	65.00		65.00
	Replace door latch rod clip for exterior ok after repairs.	door handle. check opera	tion of drivers door,						
1.50 5	STATE INSPECTION PRE CHCEK		State Inspection	Anthony DeSantis	1.50	97.50	97.50		65.00
	Pre Check vehicle for NJ State Inspecti	on & take to Inspection F	acility						
0.70 E	Brake fluid flush		Brakes & ABS	Anthony DeSantis	0.70	45.50	45.50		65.00
	Check brake fluid for moisture and cont hoses. Inspect calipers and wheel cylir entire brake system including master cy	nders. Inspect master cyl	nder and cap. Flush						
- E	BRAKE FLUID DOT-3	BRK FLUID DOT-3	Brakes & ABS	Anthony DeSantis	9.50	1.00	9.50	1.00	
- E	BRAKE CLEAN SPRAY	BRK CLEAN	Maintenance Services	Anthony DeSantis	2.00	1.00	2.00	1.00	
).95 L	ube, oil, and filter, Up to 5 quarts		Maintenance Services	Anthony DeSantis	0.95	61.80	61.80		65.00
- F	Blend Oil. Change oil and oil filter. Che suspension if appropriate. Check all flu safety inspection. Preventative Maintenance & Safety	iid levels and tire pressure	es. Perform under car Maintenance Services	Anthony DeSantis		0.00	0.00		65.00
	Inspection of vehicle includes safety inscheck all fluids belts & hoses. Check brinspection. Check for fluid leaks. Check lights from engine and other systems.	akes, involves pulling who k proper A/C operation. C	eels to do proper Check for warning						
	ENGINE OIL / BLENDED STANDARD & SYNTHETIC	2-OIL / BLEND	Maintenance Services	Anthony DeSantis	6.00	3.44	20.64	3.44	
- (OIL FILTER	OIL FILTER	Maintenance Services	Anthony DeSantis	1.00	3.75	3.75	3.75	
	TRICO WIPER BLA/Windshield Wiper Blade	19-200		Anthony DeSantis	2.00	8.10	16.20	8.10	
- \	VASTE OIL DISPOSAL FEE	OIL DISPOSAL FEE	Maintenance Services	Anthony DeSantis	1.00	2.25	2.25	2.25	
1	Notes - CHECK FILTERS & FLUIDS								
0.31 N	Mount & Balance 1 tire		Tires & Wheels	Anthony DeSantis	0.31	20.00	20.00		65.00
	Remove wheels from vehicle. Inspect to ones. Computer spin balance. Re-instamanufacturer's specifications.								
- F	Firestone Transforce HT2	TIRE		Anthony DeSantis	1.00	130.01	130.01	130.01	
- [DISPOSAL FEE CAR-LIGHT TRUCK	TIRE DISPOSAL	Tires & Wheels	Anthony DeSantis	1.00	2.50	2.50	2.50	
	/ALVE STEM FOR WHEEL RIM, CONVENTIONAL	TIRE VALVE STEM	Tires & Wheels	Anthony DeSantis	1.00	2.50	2.50	2.50	
1	Notes - TMPS SERVICE KIT OR VALVE	STEM?							

Vehicle: 2012 Ford - Econoline E150, 5.4L,V8 (330Cl) VIN(L), SG30426, V 9287 - SURPLUS Average Daily Mileage: 17											
Invoice: 000274, Posted On: 10/14/2020, SW: Arcure, Ron								Odometer in: 40,428 Odo		ometer Out: 0	
Time Desci	ription	Part No.	Category	Tec	hnician	Qty	Sale	Extd	Price	Rate	
Notes - EDIT TIRE PRICE & TYPE											
Notes - TIRE FEE FOR STATE IS AUTOMATICALLY ADDED TO INVOICE, PLEASE CHECK IT.											
	Totals for Invo	ice: Par	ts Labor	Discoun	Subtota	I	Haz Mat	Supplies	Tax	Total	

	189.35	289.80	0.00	479.15	0.00	11.59	0.00	490.74

Totals for Owner:	Parts	Labor	Discount	Subtotal	Haz Mat	Supplies	Tax	Total
	2,927.11	3,390.29	0.00	6,317.40	0.00	98.55	0.00	6,415.95